PAST SAT8 QUESTIONS

Solve problems involving the calculation of percentages
and the use of percentages for comparison

2019 Paper 1 Q18 2019 Paper 1 Q27

20% of 3,000 = 35% of 320 =

2019 Paper 1 Q29

51% of 900 =

2019 Paper 1 Q33

36% of 450 =
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PAST SAT8 QUESTIONS

Solve problems involving the calculation of percentages
and the use of percentages for comparison

2022 Paper 1 Q27 1 mark

15% of 3,200 =

2022 Paper 1 Q30 2 marks

80% of 115 =

2023 Paper 1 Q35 1 mark

38% of 750 =
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PAST SATs QUESTIONS

Solve problems involving the calculation of percentages
and the use of percentages for comparison

2023 Paper 1 Q30 1 mark

95% of 180 =

2023 Paper 2 Q23 2 marks

A small box contains 650 grams of cereal.

A large box contains 20% more cereal.

One portion of cereal is 40 grams.

How many full portions are in a large box?
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your
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PAST SATe QUESTIONS

Solve problems involving the calculation of percentages
and the use of percentages for comparison

2023 Paper 2 Q24 1 mark

1,200 pupils were asked this question:
How important is it to have a break when using a screen?

This chart shows the results.

Mot
important
12%

How many pupils answered ‘Very important’?

pupils

2023 Paper 3 Q21 3 marks

There are 25 classes in a school.
Each class has 34 pupils.

62% of all the pupilz play a sport after school.

‘What number of pupils do not play a sport?

Show
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pupils
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